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Answer: A 

QUESTION: 137 

The Ethernet Version 2 specification ______ the IEEE specification. 


A. Predates 
B. Was co-developed with 
C. Followed 
D. Is unrelated to 

Answer: Pending.Please send your suggestions to support@ 

QUESTION: 138 
Choose all that apply. Which of the following statements are true regarding the IEEE 
802.3 Data Link layer? 

A. Splits the DLC layer into two distinctsublayers 
B. MAC layer contains hardware addresses of destination and sending stations 
C. MAC Layer ensures minimum frame length 
D. Accommodates only connectionless service 

Answer: A,B 

QUESTION: 139 
The image below is a view of the Sniffer Detail window. The Ethernet frame format 
displayed in the image is: 
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A. Ethernet Version 2 
B. Novell Raw 
C. IEEE 802.3 
D. IEEE 802.3 SNAP 

Answer: B 

QUESTION: 140 

In the IEEE 802.3 specification, Collision detection is performed by: 


A. The Physical layer 
B. The LLC sublayer of the Data Link layer 
C. The MAC sublayer of the Data Link layer 
D. None of the above 

Answer: B 

QUESTION: 141 

The ________ header follows an IEEE 802.3 LLC field when the SAP values are AA. 


A. Type 
B. Length 
C. Data 
D. SNAP 

Answer: C 

QUESTION: 142 
Choose all that apply. During frame transmission in Ethernet (CSMA/CD), which of the 
following activities occur? 

A. After sensing that there is no carrier on the wire during theinterframe gap period, a 
station with data to send begins to transmit a frame 
B. The signal is propagated everywhere 
C. The source station listens after it completes transmitting 
D. It assumes the frame was delivered if it sensed no interference during transmission 
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Answer: A,C 
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